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This project builds a commant-line ool written in C.
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#include <stdio.h>

int main (int argc, const char * argvl[]) {

return O;
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int main (int argc, const char * argv[]) { Aif@%%ﬁ)Vb
double x, newx, f, df; »
printf ("Please Input Initial Value x0 ="); e
scanf ("$1f", &x); s f(x)DEHE
d
LABEL: FIRAE x DAL -
Y T | rwosts
f=2.0*pow (x,3.0)+9.0*pow (x,2.0)+40.0*x~- 80,9»/
df=6.0%pow (x,2.0)+18.0%x+40.0; 7 _L--
- :xkﬂ@@ﬁﬁj;
printf (" x= - %f ¥n", x,£f);
///
MBPB xZ5Z2DE, &7 new_x DI
newxb@ﬂﬁT}%%
newx=x- (f/df)
if (pow(f,2.0) > 0.00001) )
C T T T e S
X=NEewx; ——
goto LABEL; TTTT=m———_
) -
rintf ("** Final Answer **¥n"); _—T
Erintf(" x=%£¥n", x) ; 7 x & new x WA @
printf (" f(x)=%f¥n",f);

return (0) ;

Please Input Initial Value x0 =20

x=20.000000 f(x)= 20320.000000
x=12.742857 f(x)= 6029.518647
x=7.894628 f(x)= 1780.779395
x=4.692100 f(x)= 512.426927
Xx=2.694744 f(x)= 132.281115
x=1.693185 f(x)= 23.237614
x=1.428154 f(x)= 1.308539
x=1.411366 f(x)= 0.004942
x=1.411302 f(x)= 0.000000
** Final Answer ** _
x=1.411302 £ (x) DEDEEICH > >X
f(x)=0.000000 T3,
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